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and ‘b’ are prime numbers, then their LCM is

(a) ‘a (b) ‘b’ (.- @ xb (d) _:_
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The product of two irrational numbers is :
AN always a rational number
always an irrational number

(C) sometimesa ration@l pumber, sometimes irrational
(D) nota real number" '
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L/(gl/- x=2,y=1 7 " (b) x=4,y=4

(c) x=6,y=7 o’ 1) =5 y=3

Which of the following is not 2 sohmon of the system of equations 3x —
(a) x=2,y=1 [n} a=4,y-4

(c) x=6,y=7 - (d) :::;.:-"":- =S5 y=13

2y=4 and&x-—4y=8?

AR ax+by=2a —b £ T bx+ay=0L, 2 u* nm wra b

(a) a’—b b) b-a “@A a-b (© gD
ifax+by=2a -bz and bx+ay=0, thcn{hculucqtt:wm. .
(a) a-b (b) b-a (c-k-;;;_" a=b (&) 2 +b
//, ' -
/5 A ABC ¥ AC=24 cm, BC= mcmaffua-zsant rh
(a) ZB <90° (b) AC>90“
£C=90° (4 £8=90C
in A ABC, AC =24 cm, BC=10cm and AB = 26 cm, then :
(a) /B <90° (b)  £C>9%0°
() £€=90° d) £8=90C
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Ifsec0+tan9=xthensec6isequalto:
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A sind = x iR secH =y A, aﬁ%t;
(A)  xy =
) y

© = 6 2,
Ifsin0=xandsec0=y&\enuno5; Ay
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(A) WEEH = 2 AMAE - 3} una ( = 3 §NTE - 2 Ty
(C) WET®H =2 qnaw 4 3 una (D) « 3 UAE 4 2 ung
The mean, median and mode of a frequency distributic related by the
: formula :
(A)  Mode = 2 Median - 3 Mean M Modg=2 Medimb)-r-z Mean
(©)  Mode =2 Median + 3 Mean (D) Mode =3 Median + 2 Mean
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Question numbers 9 to 14 carry 2 marks each.

zfse % 12 o areforg wen 1
Show that 32 is irrational.
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Find a quadratic polynomial with zeroes as :— and —1.

11 7 oft TER k2 — 6x +9 F YA M ¥, W k F A W HI
d Find k, if zeroes of polynomial kx2—6x+9 are equal. K « #1

ar A
1 s, AABCuAPQR ADLBC TPSLQR & 7 AD : Ps=49 #1 2 225) g Fifer

Vg ar (3 PQR)

A - '
In the figure, AABC- APQR.AD; I's Rand AD - PS = 49, Find 2 A8C0) Vs
ar (3 PQR) 8.
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13 ﬂ&xunas'cotw‘-sinw'oosGO'ﬁ ﬁnmm |
if x tan 45° cot 60° = sin 30° cos 60°, find the value of x.

14" [t Fret araman 43 &1 WA 24 &, A p &1 HA W
/ T 0-10 |10-20 [20-30 [30-40 [40-50
FEETE 3 4 P 3 2
1f the mean of the following frequency distribution is 24 find the value of p :
Classes 0-10 [10-20 [20-30 |30-40 |40-50

Frequency k) 4 p 3 2
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Question numbers 15 to 24 carry 3 marks each.

15~ 180,252 3l 324 ¥ HCF 3R LCM 7@ Fif!
/FindHCFmdLCMo£180,252and324. HEED L em - 1280
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}/" fix) =6+ 138 —x =2 g(x) = Jx 48 ¥ FT T A € A MRS I A9Fa 7 Hfegs 3
Find the quotient and remainder oft dividing fiz) = 6x’+13x' —x—2 by g(¥) =2x +1. 0 =304 g0
yamb%mﬁ%mmmﬁﬂﬁﬁw%mﬁﬁamﬂmmﬁ? 3
2-3y=7 ; (a+bjx— (a+b-3y=4a+bl”
For what values of a and b will the folbw!ti}g,system of linear equations has infinitely many

solutions ? \
2u-3y=7; (a+b}x— (a+b-3)y=4a+b “b ’*'”—J l43= h’}
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Find the zeroes of the polynomual :° * L, 2dnd umh the relattionship between the

coefficients and the zeroes of the polynorual "’ L)
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In A ABC, P and Q are points on sides AB and AC respectively such tMPQ]lB( Prove that the median
AD drawn from A to BC bisects PQ. »: p\n&amw"\ ‘1“;', \*r
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In the given figure, AABC and AD
ar(3ABC) _ A
DO
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Find the value of sin 60° geometrical
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Prove that
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fag #Fifaq ﬁﬁcos'A —cosA= sin A -
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Prove that cos A —cos A=sin A—sin A
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200 - 201{201 - 202|202 - 203{203 - 204 208

and BC intersect at O.

’ M

& # "E: | 13

27 18 10

E "No. of packets : |13

Weight
( !Tm gm) :
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The weights of tea in 70 packets are shown in the fo
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 table ;

200 - 201|201 - 202|202 - 203 | 203 - 204

204 - 205|205 - 206

27 18 10

1 1

kets using step dc‘viation method.

| Find the mean weight of pac
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Question numbers 25 to 34 carry 4 marks each.
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Amita, Suneha and Raghav start preparing cards for all the persons of an old age home. In
order to complete one card, they take 10, 16 and 20 minutes respectively. If all of them started '
together, after what time" Wlll t.hey start preparing a new card together ? thch values do ‘Q
these children reflect. [ g
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A train moving with uniform speed for a certain distance takes 6 hours less if its speed be
increased by 6 km/hour. It would have t{ﬁj&p 6 hours more, had its speed been decreased by
4 km/hr. Find the distance travelled of i joirney and the speed of the train.

a0 3w vaw A a0 3w stha fa, mj“iﬂ"gﬂmuﬂxmmswﬁfuﬁmmmm1 4
3% 7 FAR B ) uf*mﬁmvcuﬁ:-vam mmw:mm A 79 50 HF

&fsta w1 gt F §7 faad wva 47

Yash scored 40 marks in a test, getting 3 marks for each w&m anywer and losing 1 mark for each wrong
answer. Had 4 marks been awarded for each correct ar_w__;w “and 2 marks deducted for each wrong

~ afswer, Yash would have scored 50 marks. How many questiofi were there in test ?

AABCtMAﬁgchmmwmac-hnmﬁmhﬂft DB=3CD t @ fag wifoy 4

fs 2 AB2=2 ACZ + BC2
The perpendicular from A on the side BC of a AABC intersects BC at D such that DB=3 CD.
Prove that 2 ABZ =2 ACZ + BC2

29,/%Panﬂpowmfmh fag FfaY fF (PQ2 + PR2) =2 (PD? +QD2) ¥ 4
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In A PQR, if PO is a median, prove that (PQ2 + PRZ) =2 (PD? + QD?)
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Find the value of cosé0° Geometrically. Hence find cosec6(".
34
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An equilateral triangle is inscribed in a circle of radius 6 cm. Find its side.
32 c 4
, B sind = ———-—;mdmt T cosd 3 tand ¥ HHA T FIFT
244
If sin® = = andd>0 find the values of cos® and tan§.
+ 42 :
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The following table showsdnnm'hcmmnlh 100 students of class X in a school durmga
particular academic session. Find the mcdr of this distnibutions

[Less [Less  [Less 'hn- Tless [less  [Less |
Marks than |than than hhm lth.m !th.m than

10 |20 ‘L’_ﬁ._ﬁ "“ 7™ |80 |
Number of ’ '

7 €2

sudents |7 |2 34 B an Jm 1= | 100

V ﬁna@wmwhwm.Mbﬁﬁiﬁ—iﬁﬁmﬁmmmtl a
ar 0-5]5-10]10-15]15-20]20-25[25-30[30-35|%-40 |
qIETE 12 |a 12 15 b 6 6 4 }
The median of the following data is 16. Find the missing frequencies a and b if the total frequer
[Class : 0-5 15-10 [10-15 [15-20 |20-25 [25-30 | 30-35 [35-40 |
Frequency : 12 a 12 15 b 6 6 14
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